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1. HACITIOPT KOMIIVIEKTA KOHTPOJIbBHO-OHEHOYHbLIX CPEACTB

B pesynbTaTe ocBoeHHMs y4eOHOW AUCUUILIMHBI MHOCMpPAHHBLL A3bIK 6
npogeccuonanvnoit  O0eamenbHOCMU oOyyaromuecss  JOJDKHBI  0OJajgaTh
npeagycmorpenabivu - ®I'OC  CIIO  cneumansHoctu  13.02.11  Texnuueckas
IKCHAYAMAUUA U OOCIAYHCUGAHUE INEKMPUUECKO20 U INEKMPOMEXAHUUECKOZ0
obopyoosanus (no ompaciam) o6IIMMHU U TPOHECCHOHATHPHBIMU KOMITCTCHITUSIMHU:

OK 01. Beibupars cmocoObl perieHus 3afad Mpo(ecCHOHATBLHON NeITeTbHOCTH
IIPUMEHUTENBHO K Pa3JINYHBIM KOHTEKCTaM;

OK 02. Ocy1iecTBasTh MMOUCK, aHATN3 U UHTEPIPETAIHNIO HH(OpPMAITUH, HEOOXOIUMOM
JUTSL BBIIIOJTHEHUS 33/1a4 PO eCCUOHANBHOU I€ATEIbHOCTH;

OK 03. IlmaHupoBaTh W pealU30BbIBaTh COOCTBEHHOE MPO(PECCHOHAIBHOE U
JUYHOCTHOE Pa3BUTHUE;

OK 04. Paborath B KOJJIEKTHBE U KOMaHJE, 3()(PEKTUBHO B3aUMOJEHCTBOBATH C
KOJUIETaMU, PYKOBOJICTBOM, KJIUEHTaMU;

OK 05. OcymiecTBasATh YCTHYIO U MUCbMEHHYK0 KOMMYHUKALHUIO Ha TOCYJapCTBEHHOM
a3bike Poccuiickoit denepanuu ¢ yueToM 0COOEHHOCTEN COLMAIBLHOTO U KYJIBTYPHOIO
KOHTEKCTA;

OK 06. IIposBiaATh TIpaKAaHCKO-NATPUOTUYECKYIO IIO3HMIMIO, JEMOHCTPHUPOBATH
OCO3HAHHOE MTOBEJCHUE HA OCHOBE TPAJUIIMOHHBIX OOIIEUEIOBEYECKUX IEHHOCTEH;
OK 07. CopeiicTBOBaTh COXPAHEHHIO OKPYXKAIOMIEH CpeIbl, pecypcocOepekeHHIo,
3¢ (HEeKTUBHO JAEWCTBOBAThH B UPE3BBIYAMHBIX CUTYAIINAX;

OK 08. Hcnomp3oBaTh cpeAcTBa (PU3NYECKONW KyJIbTYpPhl JJIS COXpPAHEHUS U
YKPEIUIEHUS 3/I0pOBbsI B Mpoliecce NPo(PecCHOHATBbHOMN AESITENbHOCTU U MOAAEPKAHUS
HEO0OXOJAMMOr0 YPOBHS (PU3HUECKON MOATOTOBICHHOCTH;

OK 09. Hcnonb3zoBaTh HHPOPMALMOHHBIE TEXHOJOTUU B MNPO(PECCHOHATBHON
NEeSTENbHOCTH;

OK 10. ITons3oBaThes mpodeccuoHaabHON JOKYMEHTAIMEH Ha TrOCyJapCTBEHHOM H
WHOCTPAHHOM $I3BIKE;

OK 11. IlnanupoBaTh NpeaIPUHUMATENBCKYIO IESITEIBHOCTh B MPOGECCHOHATBHON
cepe.

[IK 1.1. BpImONHATH HaNagKy, PETYJIUPOBKY M TMPOBEPKY AIEKTPUUYECKOTO H
AJIEKTPOMEXAHUYECKOT0 000PYA0BaHUS.

[IK 1.4. CocTaBisiThb OTYETHYIO JOKYMEHTAILIMIO [0 TEXHUYECKOMY OOCIYKUBAHUIO U
PEMOHTY AJIEKTPUUECKOTO U 3JIEKTPOMEXAHUUECKOTO 000PYA0BAHHSL.

[IK 2.1. Opranu3oBbIBaTh U BBHINOJIHATE padOTHI O AKCILTyaTallMi, 00CITYy>KUBAaHUIO U
PEMOHTY OBITOBOM TEXHHKH.

[IK 4.2. Opranu3oBbIBaTh W BBINOJHATh TEXHUYECKOE OOCTYKUBAHUE CIOXKHOTO
ANEKTPUUECKOTO U DIIEKTPOMEXAHUYECKOTO  OOOpYAOBaHUS C  3JIEKTPOHHBIM
YIIPABJICHHUEM;



Y4eOHBIM TUTAHOM KOJUIEIKA TMPEyCMOTPEHA MPOMEKYTOUYHAsl aTTECTAaIUs 110
yueOHO! nucuuruinae Mnocmpannslii A3ulK 6 npogheccuonanvHoll oeamenbHocmu B
dbopme auddepeHIpoBaHHOTO 3a4eTa.

2. PE3YJIbTATBI OCBOEHUWS YYEBHOM JUCIIUILINHBI

B pesynbrare arrectaiuu oCyIecTBIsAETCS KOMIUIEKCHAs IPOBEPKA CIETYIOLIUX
YMEHUH U 3HaHUM, KOTOpbIe (OPMUPYIOT 00IIHE U TPOPECCUOHATbHBIE KOMIIETSHIINH:
3HAHMA:
nexkcuueckut (1200 — 1400 nekcuyeckux €AWHUI) U TPAMMATUYECKUNH MUHHUMYM,

HEOOXOJUMBIA [UIsl 4YTEHUS U TIepeBoja (CO CIIOBapeM) HMHOCTPAaHHBIX TEKCTOB
po(ecCHOHATbHON HAPABIEHHOCTH
YMEHHs:
-00marbesi (yCTHO M MUCBMEHHO) Ha MHOCTPAHHOM sI3bIKe€ Ha MpodecCHOHANIbHbIE U
MOBCEHEBHBIE TEMBI;
-epeBoUTh  (CO  cloBapeM)  HMHOCTpPaHHbIE  TEKCThl  IMpodeccroHaIbHOM
HaIIPaBJICHHOCTH;
-CaMOCTOSITEIbHO COBEPIIEHCTBOBATh YCTHYIO M IHCBMEHHYIO pPEYb, IOIMOIHATH
CJIOBapHBIN 3ar1ac;

3. ®OPMbI 1 METO/IbIl OHEHUBAHUSA

KonTtposnb u orieHka 3HaHUH, yMEHUH, a TakKe CHOPMUPOBAHHOCTH OOIITUX U
poecCuOHANBHBIX KOMIIETEHIIUNA OCYIIECTBIISIOTCS C UCTIOIb30BAaHUEM CIIETYIONINX
GbopM 1 METOZIOB: TECTUPOBAHHKE, 3AIIUTA MPOCKTHBIX PabOT, Mpe3eHTAINI U IPYTUX
BHUJIOB CAMOCTOATENIbHOU paboThl. OlleHKa OCBOCHUS JUCHUILIUHBI IPEyCMaTPUBACT
MCIIOJIb30BaHUE HAKOMUTEILHON CUCTEMbI OIIEHUBAHUS MIPU MIPOMEKYTOUHOU
aTTecTauu U U pepeHInPOBaHHOTO 3a4€eTa.

4. KOHTPOJIBHO-OEHOYHBIE CPEJACTBA JAJIAA TEKYLIEI'O
KOHTPOJIA

Pa3znes 1 BBoaHO- KOppeKTUBHBIN KYPC
Bapuant Nel
3aganue

1. Read the text and answer the questions

London
London is the largest city in Western Europe. More than 7 million people live there. It
lies on both banks of the Thames.
Parts of London
London is traditionally divided into several parts: the City of London, which is the
financial center of the United Kingdom, the West End, which is the area of museums,
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art galleries, largest department stores, cinemas, and hotels. West End and is
associated with wealth and luxury; and the East End, which is the industrial part of
London and is very important for the commerce. Most of London sights, such as the
Tower, the Houses of Parliament, Westminster Abbey, Trafalgar Square, and others
are famous all over the world. The Tower of London was founded in the 11th century
by William the Conqueror. The Tower in the past was a fortress, a palace, and a
prison. Though the kings were born, lived and were married there, it happened

also that kings and queens were murdered in the Tower. It was said that whoever held
the keys to the Tower, held the keys to the kingdom.

The Tower has several towers: the Jewel Tower, where the Royal precious jewels are
kept, the White Tower, in which the Kings of England held their Court, and others.
One of the towers is called the Bloody Tower, where the king Edward V and his
brother were murdered. The Duke of York. Queen Anne Boleyn, the Princess (
afterwards Queen) Elisabeth and many other people were in prison in the Tower.

Now the Tower is a museum and the Crown jewels and other treasures are kept there.
The Guard, known as "Beefeaters" still keep watch. The Ceremony of the Keys

that is centuries old takes place every night. Now the only inhabitants of the Tower are
ravens.

There is a legend that the Tower will fall if it loses its ravens. Therefore the birds with
clipped wings are carefully The Beefeater guarded.

The Houses of Parliament and the Clock tower "Big Ben" The Houses of Parliament
are the most beautiful buildings not only in London, but in the whole Europe. The
Houses of Parliament are also called the Palace of West. The Queen enters the Palace
of Westminster only on the day of the opening of Parliament at the beginning of

the session. She wears a crown and many jewels when she makes her

speech from the Throne in the House of Lords. A fire destroyed the old Houses of
Parliament. The new Houses of Parliament were built in 1857. The famous 320 foot
(97.5 meters) clock Tower is called "Big Ben" after Sir Benjamin Hall under whose
direction the construction of the clock was conducted.

St. Paul's Cathedral. It took the architect Christopher Wren 35 years to build the
Cathedral. It is one of the most beautiful pieces of architecture in Europe. It has

a huge dome with a golden ball on the top. The interior of the Cathedral is very
beautiful too.

The British Museum. There are many museums and art galleries in London. The
British Museum is famous for its rich library ( about 7 000 000 books ).

It is also the Museum of History, Archaeology, Art and Ethnography. The British
Museum contains the most important collections in Britain.

The Buckingham Palace. The Buckingham Palace is the place where the Queen of
England lives. The Buckingham Palace Trafalgar Square Trafalgar Square is the geo-
graphical centre of London. It was named in the memory of Admiral Nelson's victory
in the battle of Trafalgar in 1805. The tall Nelson's Column stands in the middle of the
square. Opposite Trafalgar Square site the Nelson monument is the National Gallery
and the National Portrait Gallery. They contain the finest art collections of the

world.



Westminster Abbey. Westminster Abbey is the place where the coronation of

nearly all kings and queens has taken place since the time of the Conquest. Many of
them are buried here as well as some other famous people of the country.
Westminster Abbey Westminster Abey is famous for its architecture and history.
There are the graves of some of the world's famous writers, poets and scientists:
Chaucer, Charles Dickens, Tennyson, Thomas Hardy, Kipling and others are buried
here. There in the Poet's Comer there are memorials to Shakespeare and Milton, Burns,
Byron, Scott, Thackeray and Longfellow. Here is also the grave of the Unknown
Soldier who was killed in the First World War.

Parks in London.

St. James Park. There are many parks in London: Hyde Park with its Speaker's Cor-
ner, St. James Park, and Kensington Park.

Words:

several - HECKOJBKO

art gallery -xkapTuHHas ranepes

commerce ~-TOPTOBJIS; KOMMEPITHS

sights - JOCTONPHUMEUATEIBHOCTH

fortress - kpenocTh

to murder - yOuBath

whoever - kTo ObI HU

Royal - koposneBckuit

precious jewels - AparoreHHbpIe KAaMHU

Court - 1BOp (KOpOJISA)

Bloody Tower - KpoBaBas Garss

Duke of York - repuor Hopkexnit

prison - TIOpbMa

beefeater-Oudurep, CiryKUTEIb OXpaHbI JIOHAOHCKOTO Tayspa

to keep watch - mexyputb

inhabltants - oOuTaTenu

raven - BOPOH

clipped wings - mojipe3aHHbI€ KPbLIbs

is called after - Ha3BaH B 4eCTh

construction - CTpOUTEIBCTBO

to conduct - TpoBOIUTH

grave - MOTHJIa

Conquest - 3aBoeBaHue AHraMU HopMaHHamu ( 1066 r.)

densely populated - miioTHO HaceneHHBIN

Questions:

1. What is the capital of Great Britain?

What is London's population?

On what river does London stand?

Into what parts is London divided?

Why is the City called the business centre of London?

Who was buried in Westminster Abbey?

ARl



7. What is the West End famous for?
8. Why is the central square in London named Trafalgar Square?

Bapuant Ne 2
3aganue

1. Read the text and answer the questions

Great Britain

The official name of Great Britain is The United Kingdom of Great Britain and
Northern Ireland. Great Britain is an island country. It is situated on the British Isles
in the northwest of Europe. The English Channel 18 miles wide separates it from
France. Great Britain is separated from Belgium and Holland by the North Sea, and
from Ireland by the Irish Sea.
Parts of Great Britain. The United Kingdom of Great Britain consists of four parts:
England, Wales, Scotland and Northern Ireland. England, Wales and Scotland occupy
the territory of Great Britain and Northern Ireland is situated in the northern part of
Ireland. The territory of the United Kingdom is about 244 000 (two hundred and forty-
four thousand) square kilometers. The population is over 56 million. The capital is
London.

The surface of the United Kingdom varies greatly. The northern and the western parts
of the country are mountainous and are called the Highlands. All the rest is a vast plain
that is called the Lowlands. The mountains are not very high. The rivers are not very
long. The most important of them are the Severn and the Thames. There are many
beautiful lakes in the mountainous part of the country.

No part of England has more than one hundred miles from the sea. The coast line has a
number of fine bays and excellent natural harbors. World famous ports include
London, Liverpool, Bristol, Plymouth, Southampton, Portsmouth, Dover and others.
Climate In Great Britain. The climate of Great Britain is mild the whole year round.
The mountains, the Atlantic Ocean and the warm waters of the Gulf Stream influence
the climate of Great Britain. Winters are not cold and summers are not hot. October is
usually the wettest month, July-the hottest, and January-the coldest.

British Economy. Great Britain is a highly developed industrial country. It is known as
one of the world's largest producers and exporters of iron and steel products,
machinery and electronics, chemicals and textile. One of the chief industries is
shipbuilding.

Great Britain is a country with old cultural traditions and customs. The most famous
educational centres are Oxford and Cambridge universities. They are considered to be
the intellectual centres of Europe. The education is not free, it is very expensive.
British Political System. The United Kingdom is a monarchy and the Queen is the
head of the state. But in practice it is ruled by the elected government with the Prime
Minister at the head. The British Parliament consists of two chambers: the House of
Lords and the House of Commons.

Words:

to be situated - ObITH PacHOI0KEHHBIM

British Isles - bputanckue octpoBa



surface - MOBepXHOCTH

to vary- OTJIIN4aThCs

high - BbICcOKMi

low-Hu3KHi

land-3emuiis, cTpana

plain - paBHUHa

vast [va:st] - orpoMHBbIT
lake-o3epo

shipbuilding - kopabnectpoenue
climate -knumart

mild - Markui

industry - IPOMBIIIJIEHHOCTh
to occupy - 3aHUMATH
population - HaceneHue
density - TUIOTHOCTH

to develop - pa3BuBaTh

to produce - NpoOU3BOINUTH

to export - 3KCIOPTHPOBATH
chemical - xumuyeckuii
textile - TexcTUIb
government - IpaBUTEILCTBO
chamber - manara

ruling - npaBsuit

Questions:

1. What is the official mame of Great Britain?

2. Where is it situated?

3. What parts does it consist of?

4. What is the territory and the population of Great Britain?
5. What city is the capital of Great Britain?

6. What is the surface of the country?

7. Are there any big rivers and lakes in Great Britain?

8. What is the climate on the British Isles like?

9. Is Great Britain a highly developed industrial country?
10. What goods does the British industry produce?

11. What big industrial cities are there in Great Britain?

12. What outstanding people of Great Britain do you know?
13. Are there any big educational establishments in Great Britain?

14.
15.
16.

Is Great Britain is a constitutional monarchy?
What is the name of the Queen of Great Britain?
How many chambers does the British Parliament consist of? What are they?

Pa3znen 2. OcHoBHOIT Kypc

3aganue Ne 1



Bapuant Ne 1

3aganue

Write plural forms of the words:

Woman, money, information, box, sheep, place, library, photo, mouse,
lady, glasses, bush, dress, country, bus, party, wife, day, fish.

Bapuant Ne 2

3aganue

Write plural forms of the words:

Knife, knowledge, month, pen, hero, goose, company, life, deer, tomato, city, man,
play, news, child, fruit, shelf, leaf, foot.

3aganue Ne 2

Bapuant Ne 1

3aganue

1. Translate the words:

solution, property, hypothesis, evidence, muscle, to advance, to attribute, to cause, to
direct, to eliminate, to end, to favour, to set up; a number of, with regard to, to be in
operation, dissimilar metals, in favour of, «animal electricity», electric current,
electric battery, continuous current, undesirable chemical reactions.

2. Read the text and answer the questions:

Generating an Electric Current

The first method used in producing an electric current was chemical in nature. Credit
for its discovery is given to an Italian physician named Aloisio Galvani (1737-1798).
One day while engaged in dissecting a frog, Galvani noticed the leg muscles contract
whenever a nearby electric machine was in operation. Further investigation showed
the same twitching effect to be obtained by simply connecting the nerve and muscle of
the leg to dissimilar metals. But no such result was obtained if only one metal was
used or if non-conductors were employed. There were obviously two possible sources
of the phenomenon. Either the current was set up at the junction of the two metals or it
was a property of the animal tissues. Galvani favoured the latter view and in 1791
announced his discovery, attributing the current to what he called "animal electricity"
or as it came to be known, "galvanism". Galvani is an excellent example of a scientist
who behaved most unscientifically with regard to a hypothesis which he himself had
advanced. He became so prejudiced in favour of his animal magnetism theory that it
was quite impossible for him to view objectively later evidence which definitely
contradicted it and finally caused it to be discarded.

Another Italian, Alessandro Volta (1745-1827), a professor of physics in the
University of Pavia, established the true source of the electric current. He
demonstrated that it could be produced by (the action of dissimilar metals without the
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presence of animal tissue of any sort. In the course of his experiments in 1800 he
developed the first electric battery, a device known as a voltaic pile.

Although he tried a number of different materials he found that the best results were
obtained when he used silver and zink as the two metals. The pile consisted of a series
of small discs of these and of cardboard, the latter having been soaked in a salt
solution. Then he piled the discs up one on another in the order silver, zink, cardboard,
and so forth, ending with zinc. By connecting wires to the top and bottom discs he was
able to get continuous electric currents which were of substantial size.

All the essentials of a modern electric cell or battery were present in the voltaic pile.
Developments since that time have been largely directed toward making cells more
convenient to use and toward eliminating various undesirable chemical reactions.
IIpumeuanus

1 Credit for its discovery is given — 4ecCThb €r0 OTKPBITHS MPUHAJICKHUT

2 twitching effect — addexT cokpaleHus MBIIIIII

3 animal tissue — >xuBas TKaHb

4 a voltaic pile —BosibTOB cTOJIO (TaJIbBaHUUYECKasi OaTapes)

Questions:

1.What was the first method used in producing an electric current?

2. Whom is credit for its discovery given to?

3. How many possible sources of the phenomenon were there?

4. What was Galvany’s discovery?

5.What can you say about Alessandro Volta?

6. What was Volta’s idea?

Bapuant Ne 2

3ananue

1. Put down the Russian equivalents of these word combinations.

runner blade ,turbine runner ,turbine shaft ,water level, large capacity power plant ,
magnitude of the water head, daily inflow of water, turbine runner shaft

2.Read the text and do the tasks:

Hydroelectric Power Plants
Hydroelectric power plants are built on rivers. Large capacity by hydroelectric power
plants are commonly located at considerable distances from the consumers of electric
power.
The production process at these plants is rather simple: the water flows into the
hydroturbine runner, acts upon the runner blades and rotates the runner and the turbine
shaft. The generator shaft is connected to the turbine runner shaft. The difference in
the water level influences the power capacity of a plant, i.e. the magnitude of the water
head and the daily inflow of water fluctuates considerably according to the season.
The production process is different at power plants of different constructions and of
different kinds. In atomic power plants, for example, it is not so simple as in
hydroelectric plants.
3.Complete the sentences using the correct variant:

11



1. Hydroelectric power plants are built

a) on rivers

b) on waterfalls

2. Large-capacity power plants are located

a) at a short distance from consumers of power.

b) at a considerable distance from consumers of power.

3. The production process at the plants

a) is very complex.

b) is rather simple.

4. The power capacity of a plant
a) remains constant.
b) changes considerably.
c) is influenced by the difference in the water level.
5. The daily inflow of water
a) fluctuates according to the consumption.
b) fluctuates according to the season.
6. The production process
a) depends upon the construction of the plant.
b) is the same at power plants of different constructions.
4.Answer the questions:

1. On what sites are hydroelectric power plants built?
2. Are large-capacity plants 10cated far from consumers of power?
3. Is the production process at the plants simple or is it complex?
4. What influences the power capacity of a plant?
5. According to what factors does the daily inflow of water fluctuate?
6. Does the production process at the plant depend o its construction?

3ananue Ne 3
Bapuanr 1
3aganue

1. Translate into Russian:

1. An open and a short are troubles in a circuit.
2. A trouble 1n a circuit results in mo crremt in it.
3. What does an open in a circuit result in?

4. What does a short in a circuit result in?

5. What does a trouble in a circuit result from?

= 2. Read the text and do the tasks:

R Electric Circuit

12



This is a circuit. Its elements are a voltage source, a resistor and a conductor. The
circuit consists of a voltage source, a resistor and a conductor. A voltage source
supplies current. A resistor reduces current. A conductor connects the elements of the
circuit. Compare circuit a with circuit b. What is the difference between them? Current
passes through circuit a while no current passes through circuit b. Circuit b has an
open. No current through circuit b results from an open. An open and a short are
troubles in a circuit. A trouble in a circuit may result in no current in it.

3. Complete these sentences, using the correct variant:
1. Circuit a consists of

a) resistors and conductors.

b) a voltage source and resistors. .

c) a voltage source, a resistor and a conductor.
2. A voltage source

a) conducts current.

b) reduces current.

c) supplies current.

3. A conductor

a) connects the 'elements.

b) supplies voltage.

c) conducts current.

4. A resistor

a) connects the elements.

b) supplies current.

c) reduces current.

5. No current results from

a) an open.

b) a short.

4. Answer the following questions:

1. What elements does a circuit consist of?

R, R, 2. What is the function of a voltage source?
=t 3. What 1s the function o! a conductor?
a 1 4. What 1s the function of a resistor?
”ﬁi 5. When is there no current in a circuit?
_L—_‘(gj__ 6. What does an open or a short result in?
5 7, | Bapuanr 2
tly= 3apanue

1. Read the text and do the tasks

Ry Re
— 2 —CX3 Series Circuit and Parallel Circuit
d !
Tip= Compare circuits a and b. Circuit a consists of a
R, voltage source and two resistors. The resistors are
_CCC:)(D:__ connected in series. Circuit a is a series circuit. Circuit
R
d 2 | 13
+ig—
1%



b consists of a voltage source and two resistors. The resistors are connected in parallel.
Circuit b is a parallel circuit.

A parallel circuit has the main line and parallel branches. In circuit b the value of
voltage in R1equals the value of voltage in R 2 . The value of voltage is the same in all
the elements of a parallel circuit while the value of cument is different. A parallel
circuit is used in order to have the same value of voltage. In circuit a the value of
current in R1 equals the value of cument in R 2 . The value of cunemnt is the same in all
the elements of a series circuit while the value of voltage is different. A series circuit is
used in order to have the summe value of ccurrent. In R1, V1=1R1 is the voltage drop in
R1. In R 2 the voltage equals

I x R 2; IR 2 is the volt age drop in R 2 . In circuit ¢ a trouble in one element results in
no curnernt in the whole circuit. In circuit d a trouble in one branch results in mo curmnernt
in that branch only, a trouble in the main line results in mo current in the whole circuit.
2. Complete these sentences using the correct variant:

1. A parallel circuit has

a) parallel branches only.

b) the main line and parallel branches.

2. A parallel circuit is used in order

a) to have the same value of current in all the elements.

b) to have the same value of voltage in all the elements.

3. In a parallel circuit a trouble in one branch

a) results in mo current in that branch omly.

b) results in o trouble in the whole circuit.

4. No current in a parallel circuit

a) results from a trouble in one branch.

b) results from a trouble in the main

line.

5. The sum of IR voltage drops

a) equals the value of voltage in the circuit.

b) is less than the smallest voltage drop.

c) is more than the value of voltage in the circuit.

3. Answer the following questions:

1. What type of circuit has the main line and parallel branches?

2. What type of circuit is used in order to have the same value of current in all the
elements?

3. What type of circuit is used in order to have the same value of voltage in all the
elements?

4. What does a trouble in the main line result in?

5. What does a trouble in a branch result in?

3aganue Ne 4

Bapuanr 1
3apanue
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1. Put down the Russian for:
iron core, closed core, input voltage, output voltage, primary winding, secondary
winding, step-up transformer, step-down transformer.
2.Read the text and do the tasks:

Transformers
A transformer is used to transfer energy. Due to the transformer electric power may be
transferred at a high voltage and reduced at the point where it must be used to any
value. Besides, a transformer is used to change the voltage and current value in a

circuit.
# :

A two-winding
transformer consists of a
closed core and two coils
(windings). The primary
winding is connected to
The voltage source. It
receives  energy. The
secondary  winding is
v, U, e connected to the load
Fig.10 Fig.11 resistance and supplies
energy to the load.
The value of voltage across the secondary terminal depends on the number of turns in
it. In case it is equal to the number of turns in the primary winding the voltage in the
secondary winding is the same as in the primary.

In case the secondary has more turns than the primary the output voltage is greater
than the input voltage. The voltage in the secondary is greater than the voltage in the
primary by as Tamy times as the number of turns in the secondary is greater than the
number of turns in the primary. A transformer of this type increases or steps up the
voltage and is called a step up transformer. In case the secondary has fewer turns than
the primary the output voltage is lower than the input. Such a transformer decreases or
steps down the voltage, it is called a step-down transformer.

Compare TI and T 2 in the diagram. TT has an iron core. For this reason it is used for
low frequency currents. T 2 has an air core and is used for high frequencies.

Common troubles in transformers are an open in the winding, a short between the
primary and the secondary, and a short between turns. In case a transformer has a
trouble it stops operating or operates badly. A transformer with a trouble should be
substituted.

Complete the sentences using the correct variant:

1. A transformer is used
a) to store charge.

b) to prevent the change of energy.

c) to transfer energy.

d) to change the voltage and current value in a circuit.

2. Electric power is transferred at a high voltage and reduced to any value
a) due to resistors.

L\
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b) due to capacitors.

¢) due to transformers.

3. A transformer consists of

a) cores only.

b) the primary and the secondary windings.
c) a core and the primary and the secondary windings.
4. The function of the primary is

a) to prevent the change of voltage.

b) to supply energy.

c) to receive energy.

5. The function of the secondary is

a) to receive energy.

b) to supply energy.

c) to transfer energy.

d) to decrease the value of charge.

6. A step-up transformer is used

a) to step down or decrease the secondary
voltage.

b) to step up or increase the primary voltage.
7. A step-down transformer is used

a) to step down the secondary voltage.

b) to step down the primary voltage.

8. A transformer with an iron core

a) is used for high-frequency currents.

b) is used for low-frequency currents.

9. A transformer with an air core is used

a) for high-frequency currents and for low- frequency currents.
b) for high-frequency cunents only.

Bapuanr 2
3apanue

1. Put down the Russian for:
iron core, closed core, input voltage, output voltage, primary winding, secondary
winding, step-up transformer, step-down transformer.
2.Read the text and do the tasks:

Transformers
A transformer is used to transfer energy. Due to the transformer electric power may be
transferred at a high voltage and reduced at the point where it must be used to any
value. Besides, a transformer is used to change the voltage and current value in a
circuit.
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A two-winding

= (:a Z— } g transformer consists of a
—

‘ l
ALY

closed core and two coils
(windings). The primary

7 <

| S

winding 1s connected to

?E . The voltage source. It

- o — .

= receives  energy. The

Ei‘ | j|§ 2 secondary winding is
v, v, - e - connected to the load
Fig.10 Fig.11 resistance and supplies

energy to the load.
The value of voltage across the secondary terminal depends on the number of turns in
it. In case it is equal to the number of turns in the primary winding the voltage in the
secondary winding is the same as in the primary.

In case the secondary has more turns than the primary the output voltage is greater
than the input voltage. The voltage in the secondary is greater than the voltage in the
primary by as tamy times as the number of turns in the secondary is greater than the
number of turns in the primary. A transformer of this type increases or steps up the
voltage and is called a step up transformer. In case the secondary has fewer turns than
the primary the output voltage is lower than the input. Such a transformer decreases or
steps down the voltage, it is called a step-down transformer.

Compare T and T 2 in the diagram. T has an iron core. For this reason it is used for
low frequency currents. T 2 has an air core and is used for high frequencies.

Commorn troubles in transformers are an open in the winding, a short between the
primary and the secondary, and a short between turns. In case a transformer has a
trouble it stops operating or operates badly. A transformer with a trouble should be
substituted.

Answer the questions:

1. What 1s a transformer used for?

2. What does a transformer consist on

3. What is the function of the primary winding?

4. What is the function of the secondary winding?

5. What type of transformer is called a step-up transformer?

5. KOHTPOJIBHO-OHEHOYHBIE CPEACTBA JJIsA
MNPOMEXYTOUYHOU ATTECTALIMU

3agaHus I8 IPOMEKYTOYHOM aTTeCTALMHU

Bapuant Ne 1

HNucTpyKums 1151 00y4arOIMXCH:

[IpounTaiiTe TEKCT, MEPEBEAUTE CO CIIOBAPEM, OTBETHTE HA BOIIPOCHI U BBITIOJIHUTE
3aJlaHHUs.

3ananus
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1. Read the text and do the tasks:
SOURCES OF POWER.

Assemble - cOopka, MOHTaXx; cOOUpaTh
a.c. -(alternative current) mepeMeHHBIN TOK
d. c. -(direct current) MOCTOSTHHBIN TOK
adjustment - peryn1upoBka, HajgaaKa, HaCTpOHKa
bunch -cBsi3ka, my4yox
check-up - npoBepka
to dissolve pacTBOpSTH
clip - 3axxum

The industrial progress of mankind is based on power: power for industrial plants,
machines, heating and lighting systems, transport, communication. In fact, one can
hardly find a sphere where power is not required. At present most of the power
required is obtained mainly from two sources. One is from the burning of fossil fuels,
1. e. coal, natural gas and oil. The second way of producing electricity is by means of
generators that get their power from steam or water turbines. Electricity so produced
then flows through transmission lines to houses, industrial plants, enterprises, etc. It
should be noted, however, that the generation of electricity by these conventional
processes is highly uneconomic. Actually, only about 40 per cent of heat in the fuel is
converted into electricity. Besides, the world resources of fossil fuels are not ever-
lasting. On the other hand, the power produced by hydroelectric plants, even if
increased many times, will be able to provide for only a small fraction of the power re-
quired in the near future. Therefore much effort and thought is being given to other
means of generating electricity. One is the energy of hot water. Not long ago we began
utilizing hot underground water for heating and hot water supply, and in some cases,
for the generation of electricity.

Another promising field for the production of electric power is the use of ocean
tides. Our engineers are engaged in designing tidal power stations of various
capacities. Not long ago we began utilizing hot underground water for heating and hot
water supply, and in some cases, for the generation of electricity. The energy of the
sun which is being used in various ways represents a practically unlimited source.
Using atomic fuel for the production of electricity is highly promising. It is a well-
known fact, that one pound of uranium contains as much energy as three million
pounds of coal, so cheap power can be provided wherever it is required. However, the
efficiency reached in generating power from atomic fuel is not high, namely 40 per
cent. No wonder, therefore, that scientists all over the world are doing their best to find
more efficient ways of generating electricity directly from the fuel. They already
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succeeded in developing some processes which are much more efficient, as high as 80
per cent, and in creating a number of devices capable of giving a higher efficiency.
Scientists are hard at work trying to solve these and many other problems.

2. Answer the questions:

1. What is the industrial progress of mankind based on?

2. Which is the first widely applied method of producing electricity at present?
3.Which is the second way of generating power?

4.What do we use the energy of hot water for?

5.When and where did the first power station using ocean tides begin operating in
Russia?

6.What can you say about the energy of the sun?

7.What fuel is the most promising for the production of electricity?

8.Is the efficiency of generating power from atomic fuel high or not?

3. Translate the sentences:

1. The only force acting on a freely falling body in vacuum is gravity.

2. Radio waves pass through the atmosphere including clouds and fog.

3. Scientists have developed different types of lasers.

4. When placed over a fire, a substance becomes hot.

5. Russia is giving disinterested (GeckopbICTHBIN) assistance to many countries.

Bapuant Ne 2

NHcTpykuust 1J151 00yYarOIuXcs:

[IpounTaiiTe TEKCT, MEPEBEAUTE CO CIOBAPEM, OTBETHTEC HA BOMPOCHI U BBIMIOJIHUTE
3aJIaHus.

3aganus

1.Read the text and do the tasks:

THOMAS ALVA EDISON (1847 —1931)
battery - 6aTapes; rabBaHUYECKHUM JIEMEHT
chemicals - xuMuyeckue npenapaTbl, XUMHUKAThHI
inspiration -BJOXHOBEHUE
incandescent lamp - Tamma HakaTMBaHUS
perspiration - MoT, UCITApUHA
transmission - nepejava, TPAHCMUCCHUS

Edison is known as one of the greatest inventors of his time. He invented so much
that it is difficult to say which of his achievements is the greatest. He was an
experimenter and a practical man more than a theoretician.

Thomas Alva Edison was born on February 11, 1847 in Milan, Ohio. Edison did not
have any education. He went to school only for three months. Then he left it because
the teacher considered him a dull boy. His mother became his teacher. The boy loved
books and his mother said that he had a wonderful memory. Tom’s mother was his
first teacher. She gave him some books on science. The boy studied them and became
interested in all kinds of experiments. When he first visited a public library and saw a
lot of shelves with books he decided that he would know everything in the world. He
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measured the shelf and decided to read a foot of books every week. Edison began to
work at 12 as a newspaper boy on a train. Once he saved the life of a little boy on the
railway and the boy's father, a telegraphist, gave Edison lessons in telegraphy. Edison
spent almost all his free time in experimenting. He made many important inventions at
his laboratory which was full of batteries, chemicals and a great number of
instruments.

In 1868 Edison built his first patented invention - an electromagnetic device. It is
said that he planned to ask three thousand dollars for his invention, though he secretly
decided he would sell it for two thousand if necessary. He was invited to a meeting of
businessmen who were interested in buying his invention, but when he was asked to
name the price he was very nervous and quite unable to speak. "It is no use asking us a
big price", said one of the businessmen, "we have already decided how much we will
pay. Forty thousand dollars is our limit". With this money Edison established a
workshop and began his career as a professional inventor at the age of twenty one.

Edison's inventions include the phonograph, gramophone, the dictaphone, the
incandescent lamp and some other inventions. All his inventions were the result of
hard work. He sometimes made thousands of experiments. According to his words the
idea that a genius works only by inspiration was absurd. Edison continued to work all
through his long life. He used to say: "Genius is 2 per cent inspiration and 98 per cent
perspiration", he often said.

2. Translate the words:
telegraph, phonograph, megaphone, cinematograph.
3. Find the answers in the text:

1.When was Edison born? 2. What was he interested in? 3. When did Edison begin

to work? 4. What did he use to say? 5. What do Edison's inventions include?

Bapuant Ne 3

HNucTpyKums 1151 00y4YarOImuxcs:

[IpounTaiiTe TEKCT, MEPEBEAUTE CO CIOBAPEM, OTBETHTE HA BOMNPOCHI U BBINOJHHUTE
3aJIaHHUs.

3aganue
1. Read the text and do the tasks:

HISTORY OF ELECTRONICS
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Electronics is the science dealing with devices operated by control of the movement
of electric charges in a vacuum, in gases, or semiconductors: or with the processing
of information or the control of energy by such devices. This definition covers the
whole complex family of vacuum and gaseous electron tubes and their applications. It
also includes metallic contact or semiconductor rectifiers and the transistors which
utilize the control of electrons or positive charges (holes) to process information or to
convert energy.

Electronics was born in the 19-th century. Like hydrolysis or chemistry it has come
into its own only recently. Electronics first established itself, however, in wireless
telegraphy. Industrial applications of electronics include control gauging, counting,
heating, speed regulation, etc. But in a larger field, electronics leads to automatic
control of large-scale industrial operations.Today, electronics has started a new era.
Electronics devices are doing simple, but human-like thinking. Some industries are
controlled by electronic robots. Automation is the industrial key note of the day.
Planes and rockets are electronically controlled. Some radiotelescopes work like radar
to receive radio waves from outer space. Shortly speaking, electronics is not so much a
new subject as a new way of looking at electricity.

2.Read the words:

charge — 3apsn

semiconductor — MoxynpoBOJHUK

tube — Tpy0a, TpyOKa

rectifier —-pekTuduKaTop, BHITPIMUTEIL TOKA

utilize —1cnoyib30BaThH

hole —oTBepcTHe, mITTYp

convert —IepeBOINTh, IIPEBpaIaTh

has come into its own —3aHs1a T0g00a0IIEE MECTO

keynote —ocHOBa

3. Answer the questions:

1. What is electronics? 2. When was electronics born? 3. Where did
electronics first establish itself? 4. What does electronics lead to in a larger
field? 5. In what branches of science and technology is electronics used?

Bapuant Ne 4

HNucTpyKums 1 00y4ar0uxcs:

[IpouwnTaiiTe TEKCT, MEPEBEAUTE CO CIIOBAPEM, OTBETHTE HA BOMPOCHI U BBHIMOJIHUTE
3a/1aHUsl.

3ananue

1.Read the text and do the tasks:

SEMICONDUCTORS

A transistor is an active semiconductor device with three or more electrodes. By
active we mean that the transistor is capable of current  gain, voltage,
amplificationand power gain. A transistor is an electron device in which electronic
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conduction takes place within a semiconductor. A semiconductor is an electric
conductor with resistivity in the range between metals and insulators, in which the
electrical charge carrier concentration increases with increasing temperature over
some temperature range.

The resistivities of semiconductors and insulators decrease rapidly with rising
temperatures, while those of meta Is increase relatively slowly. Unlike metals and
insulators, the resistivity of semiconductors depends upon the direction of current
flow. The direction of easiest current flow of lowest resistivity is called the forward
direction, the direction of restricted current flower highest resistivity is known as the
reverse or back direction. Semiconductors, such as the elements germanium and
silicon, possess two types of current carries, namely, negative electrons and positive
holes. A hole is a mobile vacancy in the electronic valence structure of a
semiconductor which acts like a positive electronic charge with a positive mass.

Read the words:

voltage — HanpsDKEHHE

germanium —TrepMaHui

silicon — kpeMHuUi

valence — BaJIEHTHOCTb

. Finish the sentences:

. A transistor is an electron ------=---===mmmmmmm oo .
. The resistivity of semiconductors depends on --------------------- :
. The forward direction 1S =-===========mmmmm e .
. The riverse or back direction 1S ------=========ccmmmmmmemeee :
. Semiconductors POSSESS ===--=========mmmmmm e :
. Answer the questions:

. Is a semiconductor defined as an electric conductor?

. Do semiconductors vary greatly in appearance?

. Does the state of substances depend on temperature and pressure?

. Will you study electronics this year?

5. Have many human activities played a part in scientific inventors?
6. Did the ancients know anything about electricity?

AW~ AU, WND~—W
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[Tpunoxenue 1. Kimtoun kK KOHTPOJIbHO-OLEHOYHBIM CPEACTBAM JIJISl TEKYILIETO
KOHTPOJIA

Paznea 1. Beoono- koppexmugnuwlit Kypc
Bapuanr 1
Kurou k 3aganusam:
OTBeThI HA BONPOCHI:
1. London is the capital of Great Britain.
London’s population is more than 7 million people.
London stands on both banks of the Thames.
London is divided into several parts.
There are many banks and offices there.
Famous writers, poets and scientists were buried here.

Nk

cinemas and hotels.

The West End is famous for museums, art galleries, largest department stores,

8. It is named in the memory of Admiral Nelson’s victory in the battle of Trafalgar

in 1805.

Bapuanr 2

Kurou k 3aganusam:

OTBeTbI HA BONPOCHI:

1. The official name of Great Britain is The United Kingdom of Great Britain and
Northern Ireland.

2. It is situated on the British Isles in the northwest of Europe.

3. It consists of 4 parts.

4. The territory is about 244000 square kilometers. The population is more than 56
million.

5. London is the capital of Great Britain.

6. The surface of the country varies greatly.

7. Yes, there are.

8. The climate on the British Isles is mild the whole year round.

9. Yes, it is.

10. It produces iron and steel products, machinery and electronics, chemicals and a
textile.

Paznen 2. Ocnosnoit kypc

3aganune Nel
Bapuanrt 1
Kiaru k 3aganusam:
Women, money, information, boxes, sheep, places, libraries, photos, mice, ladies,
glasses, bushes, dresses, countries, buses, parties, wives, days, fish.

Bapuanr 2
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Kuarou k 3aganuam:
Knives, knowledge, months, pens, heroes, geese, companies, lives, deer, tomatoes,
cities, men, plays, news, children, fruit, shelves, leaves, feet.

3aganue Ne 2
Bapuanr 1
K4 Kk 3aganusam
l.mepeBona cj10B:
pacTBOp, CBOMCTBO. TUIIOTE3a, TOKA3aTeIbCTBO (ITOKa3aHUE, MPU3HAKH ), MYCKYII.

MPOJIBUTATHCS BIIEPEl, OTHOCUTH YTO- JIMOO. 3a CUET, BHI3BIBATH MPUIHNHY,
PYKOBOJIUTD, TUKBHIUPOBATH, 3aKOHYUTH, BBIICISAT, yUPEKAATh ( yCTAHABIHBATH),
HECKOJIbKO, UTO KacaeTcs ( OTHOCUTENBHO). ObITh B JIeJie, pa3HbIe METAJLJIbI, B MOJIb3Y,
(MKUBOTHOE DJICKTPUICCTBO), DIICKTPUUSCKHUH TOK, IJICKTPUIECKas OaTapes,
MTOCTOSTHHBIN TOK, HE)XKEJIaTeIbHBIC XUMUUECKHUE PEAKITHH.

OTBeTHI HA BONIPOCHI:

1. The first method used in producing an electric current was chemical in
nature.2.Credit for its discovery is given to an Italian physician named Aloisio
Galvani.

3.There were two possible sources of the phenomenon.

4.In 1791 he announced his discovery, attributing the current to what he called
“’animal electricity’’ or as it came to be known, “galvanism”.

5.A. Volta was a professor of physics in the University of Pavia.

6. He was able to get continuous electric currents which were of substantial size.

Bapuant Ne 2

K4 k 3aganusm:

Pabouas nomacts TypOuHBI, pabouee KoJieco TypOUHbBI, BaJl TYpOUHBI ,yPOBEHb BO/IHI,
AIIEKTPOCTAHIIUS OOJIBIIION €eMKOCTH , BEIMUMHA HATIOPa BOJIbI, €XKETHEBHBIN MTPUTOK
BOJIbI, BaJI JIONACTU TYPOUHBI

3.

1.a) on rivers

2. b) at a considerable distance from consumers of power.
3. b) is rather simple.

4. b) changes considerably

5. b)fluctuates according to the season/

6. a) depends upon the construction of the plant

4. OTBeTHI HA BONPOCHI
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1.They are built on rivers.

2. Yes, they are

3. It is rather simple

4. The difference in the water level influences the power capacity of a plant.

5. The daily inflow of water fluctuated considerably according to the season.

6. Yes, it does.

3aganme Ne3

Bapuanrt 1

Kurou k 3aganusm

1.IlepeBoa nmpeaI0KeHUN:

1. Pa3pbIB ¥ KOPOTKOE 3aMBbIKaHUE — 3TO IPOOJIEMBI B LICTIH.
2. HeucrnipaBHOCTH B LIEIIN HE MPUBOJUT K TOKY B HEH.

3. UTO NpUBOAUT K pa3MbIKaHUIO B LEMU?

4. Yto npUBOAUT K KOPOTKOMY 3aMBIKAHHIO B LIETIH?

5. N3-3a yero BO3HUKAIOT MPOOJIEMBI B LIETIN?
3.

l.c
2.c
3.a
4.c
S.a

4. OTBeTHI HA BONPOCHI:

1. A circuit consists on a voltage source, a resister, a conductor.
2. A voltage source supplies current.

3. A conductor connects the elements of the circuit.

4. A resister reduces current.

5. A trouble in a circuit may result in no current in it.

6. An open and a short are troubles in a circuit.

Bapuanr 2

Kuarou k 3aganuam:

2.

1 2 3 4 5
b b a b a
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3. OTBeTHI HA BONIPOCHI:

1. A parallel circuit has the main line and parallel branches.

2. A series circuit is used in order to have the same value of current.

3. A parallel circuit is used in order to have the same value of voltage.

4. A trouble in the main line results in no current in the whole circuit.

5. In circuit d a trouble in one branch results in no current in that branch only.

3aganue Ne 4
Bapuanr 1
Kuarou k 3aganuam:

1.IlepeBox cJioB:
KEJIE3HBIN CepACUHHK, 3aKPbIThI CEPACUHUK, BBOJ HAMIPSIKEHUs, HAIIPSDKEHUE TOKa
BbIXOJIa, IEPBUYHAs 3aMOTKa, BTOPUYHAS 3aMOTKA, MOBBIIIAOMINKI TpaHchopmaTop,
NOHIKAIOMIMKN TpaHchopmaTop.

2.

1 2 3 4 5 6 7 8 9

c c C c b a b b a
Bapuanr 2

Kuarou k 3aganuam:

1.IlepeBon cJioB:
KEJIE3HBIN CePIICUHHK, 3aKPBIThIA CEPACUHUK, BBOJI HAMPSHKEHUS, HATTPSHKEHUE TOKA
BBIXO/1a, TICPBUYHAS 3aMOTKa, BTOPUYHAS 3aMOTKa, MOBBITIAIONTUHN TpaHchopMaTop,
MOHIKAIOIINKN TpaHchopmaTop.

2. OTBeTHI HA BONIPOCHI:

1.A transformer is used to transfer energy.

2. It consists of a closed core and two coils ( windings).

3.The primary winding is connected to voltage source. It receives energy.

4. The secondary winding is connected to the load resistance and a supplies energy to
the load.

5. A step-down transformer decreases or steps down the voltage.
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[Tpunoxenue 2. Kitoun Kk KOHTPOJIbHO-OLEHOYHBIM CPEACTBAM JJIsl TPOMEXKYTOUYHOTO
KOHTPOJISL.

Bapuanr 1

Koy k 3aganusim:

OTBeTbI HA BONPOCHI:

1. The industrial progress of mankind is based on power: power for industrial plants,
machines, heating and lighting systems, transport, communication.

2. One is from the burning of fossil fuels, i. e. coal, natural gas and oil.

3.The second way of producing electricity is by means of generators that get their
power from steam or water turbines.

4. Not long ago we began utilizing hot underground water for heating and hot water
supply, and in some cases, for the generation of electricity.

5. Not long ago we began utilizing hot underground water for heating and hot water
supply, and in some cases, for the generation of electricity.

6. The energy of the sun which is being used in various ways represents a practically
unlimited source.

7.Using atomic fuel for the production of electricity is highly promising.
8. It is not high.

2. IlepeBox mpeaioKeHUM:

1. EnuncTBEHHas cuna, 1eWCTBYIONIAs Ha CBOOOIHO NaJatollee TeJO B BAKyyMe -
ATO rpaBUTALMS.

2. PannoBoiHBI POXOAST yepe3 aTMocdepy, BKIIOUast 001aka U TyMaH.

3. Yuensle pa3zpaboTain pa3inyHbIe TUIIbI JTa3€POB.

4. Ilpy momeneHnH BeIIecTBa HaJl OTHEM, OHO CTAHOBUTCS TOPSIUMM.

5. Poccust oka3piBaeT OECKOPBHICTHYIO TOMOIIb MHOTHM CTPaHAaM.

Bapuanr 2

Kurou k 3aianusm:

2. tenerpad, ¢ponorpad, meragpon, kuaemarorpad.

3. OTBeTHI HA BONPOCHI:

1.Thomas Alva Edison was born on February 11, 1847 in Milan, Ohio.

2. He was interested in electricity.

3. Edison began to work at 12 as a newspaper boy in a train.

4.He used to say: “Genius is 2 per cent inspiration and 98 per cent perspiration”.

5. He made many important inventions at his laboratory which was full of batteries,
chemicals and a great number of instruments. Edison’s inventions include the
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4.
1.
2.
3.
4,
6.
7.

phonograph, gramophone, the dictaphone, the incandescent lamp and some other
inventions.

Bapuanr 3

Kuarou k 3aganuam:

1. Electronics is the science dealing with devices operated by control of the
movement of electric charges in a vacuum, in gases, or semiconductors: or with
the processing of information or the control of energy by such devices.

2. Electronics was born in the 19-th century.

3. Electronics first established itself, however, in wireless telegraphy.

4. In a larger field, electronics leads to automatic control of large-scale industrial
operations.

5. It is used in planes, rockets, radio telescopes and so on.

Bapuanr 4

Kirou k 3aianusim:

3.

1. A transistor is an electron device in which electronic conduction takes place
within a semiconductor.

2. The resistivity of semiconductors depends on the direction of current flow.

3. The forward direction is the direction of easiest current flow of lowest resistivity.

4. The riverse or back direction is the direction of restricted current flower highest
resistivity.

5. Semiconductors possess two types of current carries, namely, negative electrons

and positive holes.

Yes, it is.

Yes, they do.
Yes, it does.
Yes, I will.
Yes, they have.

No, they didn’t.
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JUCT U3BMEHEHUH ¥ TOMMOJHEHUN K KOMILUIEKTY KOHTPOJIBHO-
OLNEHOYHBIX CPEACTB

Jononuenus u u3meHenus k komruiekty KOC na y4eOHBIN TO/ IO AUCITUTUIMHE

B xommiexkt KOC BHeceHbI CleAyOIIUe U3MEHEHUS:

Homonuenus u wu3MmeHenus B koMmiwiekte KOC oOcyxaensl Ha 3acemanmu  [11K

« » 20 r. (mpoTtokomn No ).

[Mpencenarens TIK / /

29



		2024-05-13T13:55:07+0800
	Сычев Сергей Николаевич




